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1.   5 is one of the factors of _________.

         (A) 36  (B) 30  (C) 42  (D) 21

  2.   The fraction which represents the objects shaded in the collection is _______.





           (A)   5     (B) 12      (C)  1    (D)  2
                  12           5              2          3
   3.   There were 3856 trees in a forest. In another forest, there were 4795 trees. How many more                          trees were there in the second forest?

                (A)   930   (B)  939  (C) 1689   (D) 1600

   4.   If “r” means addition, “s” means division, “p” means multiplication and “m” means subtraction then  find     the    value of:    6 r2 r 3 r 5 m 2                    
(A) 12 (B)  11    (C) 14    (D) 10

  5.   Complete the series:      3, 5, 7, 11, 13, ? 
(A) 15 (B) 16     (C)17      (D)  14

  6.    Sam is ranked 3rd in class from top and 20 from bottom. So how many students are there in the              class?

(A) 23    (B) 20   (C) 21   (D) 22
  7.   If “=” means addition, “*” means subtraction, what  is  the  value of:           3=3=5*6=1*2

(A) 3       (B)  4    (C) 6    (D) 11

  8.   Find the missing no.

	2
	3
	4

	4
	9
	16

	8
	27
	?


(A) 24    (B)  28   (C) 64   (D)  40
  9.     Find the missing no.

             4, 9, 16, ?, 36, 49

(A) 21    (B)  25     (C)  23     (D) 27

10.   What is 11x12?

(A) 121   (B)  131   (C) 122   (D) 132

11.    I think of a number, add 10 to it and divide the answer by 2. Let the   resulting number be x. Starting with x, how  can I get my original number back ?                                                                                      
            (A)  Multiply x by 2 and then subtract 10    from the result

           (B) Divide x by 2 and then add 10 to the result

           (C)   Multiply x by 2 and then add 10 to the result

            (D)  Add 2 to x and then divide the resulting number by 10  
12.    A boy started from his home. After walking 5 km towards east, he turned to his right and walked for 8 km. Then he again turned to his right and walked for 10 km. In which direction was he from his house?

         (A)  West    (B) North   (C) South-West    (D) North-West 
13    A is B‟s sister. C is B‟s mother. D is C‟s father. E is D‟s mother. A is the                     ______________of E.
      (A) Daughter  (B) Grand Daughter  (C) Great Grand Daughter (D) Great Grand mother 

14.   Question   12  x  0 x 6 x 2 x 1 = ?
(A)   18     (B)  144       (C)  3      (D)   0

15.    Which could be one of the faces of a cylinder?

(A)                          (B)



(C)


        (D)
